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Section A, B and C are compulsory for all - Regular, Private and 01d ATKT students.
Please follow the instructions, given in each section. Marks distribution for all
st}ldents are as shown in question paper. The blind candidates will be given 60
minutes extra time,

g H 'ﬂ'&g’ﬁ’l’ﬁ‘ Section A : Objective Reg. 15x1=15/Pvt. 15x1=15/0ld ATKT 15x1=15
1. 37T T Access F ¥ et @ aF ¥ How many level of abstraction :

(a) 2 , (b) 3 (c) 4 (d) None of these.
2. TRTEY H g §EAT F Fed T : Over all structure of Database is called -

(a) Schema (b) Instance (c) Record (d) None.
3. =@y ¥ fFaA g#1C F user T o1& ¥ - How many types of user in the database :

(a) 1 (b) 2 (c) 4 (d) None.
4. TRC zwifar & : TRC stands for :

(a} Tranction Resource Control (b) Tupple Requirement Control

(c) Tuple Relational Calculus (d) None of these.
5. &% (F9=IT) entity set 1 g9 & : Week entity set is denoted by :

(a) Rectangle (b) Double rectangle (c) Circle (d) None of these.

6. Foreign key T 3uaiT & & : Foreign key is used for:
(a) To find unique record (b) Relationship making

(c) For sorting (d) None.

7. 3 NF ¥ fordr fgw &iar & : What is the rule of 3 NF :
(a) Multi value dependancy (b) No transitive dependancy
(¢) Partial dependancy (d) None,

8. Multi value dependancy # guiidh & : Multi value dependancy is denoted by :

(@a)x—y (b)) x ==y (e) x &>y (d) x xy.

9. PJNF zyrfar & : PJNF stands for :
(a) Property Join Normal Form
(¢) Partial Join Normal Form

10. fre=r ﬁlﬁ #¥1ar TCL statement & & : Which is not a TCL statement :

(b) Project Join Normal Form
(d) None of these.

(a) Roll back (b) Commit (c) Safe point (d) Revoke.
11. 37 =Y 681 &9 ¥ Al FT og I9G T & : Which clause is used to arrange the data:
(b) distinct (c) order by (d) group by.

(a) between
e & & #aT Aggregate function 78 & : Which of the following is not Aggregate function :
(a) ADD (b) Count " (c) Avg (d) SUM.
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13. Pt ¥ & Fien umsmu?l?] Failed () W . ) Almrl:edl

(n) Active \ qrit o & : How many types of Lock in the dﬂtahas&.
14. Database ¥ fed 7&K ¥ i—;ﬂg {c) 4 (d) 5. '

) ( .

(a) 2 DAVVonline.com
15. 2 PL zwiar & : 2 PL stands for: (b) 2 phase locking

(g) 2 progran‘l.ml..ng language (d) None.

{c) 2 project location
Reg. 5x4=20/Pvt. 5x5-9
Wvg ¥ : &y Saiq Section B . Short Answer 5019 A.HRT&

Dnta;nase vefifAge (administrator) ¥ T & T S & Al A TR |

.. . e ?
What is data administrators and also explain its main work
apEr OR

DBMS % Rf¥ components ¥ ar & @73C |
Explain the different components of DBMS.

2. Tuple Calculus F Iereww wfed amems? |
Explain the Tuple Calculus with example.
Jgar OR

T U QR AT 9 Serekr g e |
Explain the Entity and Entity Set with example.

3. Normalization # &I srgamony 77 ¥ ?
Explain the main objective of Normalization.
sgar OR
Multivalyed Dependancy & amy 7oy gz ¥ 7
What do you mean by Multivalued Dependancy ?

4. SQL and PL/SQL sqr & ? GLEECE
What is SQL and PL/ SQL ?

1.

Igar OR
DDL, DML sfit DCL % qoamet | DAVVonline.com

Explain DDL, DML ang DCL.

5. Dead Lock &t angaatm&ﬁmmﬁm@ 1
Explain Dead Lock with appropriate diagram,

‘ 9T OR
Authorization sftt Authentication 7} TR |
Discuss Authorization and Authentication‘

. . 5l
@ ¥ : WY Suim Section C ; Long Answer Reg. 5x10=50/Pvt. 5x12=60/01d ATKT

1. DBMS & ffw application A W |
Discuss various application of DBMS

2. Union, intersectjon 3T set-difference ¥
Difference between union, intersection

ST e f{friy |
and set-difference.

et # segy TR OR

(a7) wrowdy &y ) Free
Explain the following - ® al

() Primary key
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3. faf normal form % mw w7 2 et -7 & anomalies ® gz T & 7w |

What are the different anomalies which must be removed to get various normal forms ? Explain,
9491 OR
2 NF, 3 NF 3t BCNF 4 vaft arsmet | '
Write steps of 2 NF, 3 NF and BCNF. DAVVonline.com
4. Query, sub-query 3f¢ nested query 3 Sz ufed gaamsd |
Explain query, sub-query and nested query with example,
FH99r OR
Ifra FeTeTT A3 Mo S suTET STvter &) T |
Describe project and join operation with suitable example.
5. Recovery & 37 #7 69sd ¥ ? Recovery & fifivy technique FI THATEY |
What do you mean by Recovery ? Explain various technique of TECOVery.
aggr OR

Concurrency =7 & ? gA&TRd |
What is Concurrency ? Explain.
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